Physics 12 Booklet #1

Rotational Equilibrium when torque is not at 90 degrees.

A 4.2 m long 12 kg beam is connected to a wall /h
with a hinge, a 45 kg mass hangs from the end ‘
of the beam. A rope holds the beam 7" . r
horizontally as shown. What is the tension in - '
the rope?
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Physics 12 Booklet #1

EXAMPLE: A 2.4 m long beam of mass 22 kg is attached to a wall
with a hinge and is held at an angle of 25° above the horizontal
by a rope. What is the tension in the rope? What is the force
provided by the hinge?
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